ELEC Lui/6081 MT testil Teb20B Sl /-

&4

uefnﬁ Counte WM'FMMMW cireuid-

becomes

Ihe nodol odmflomee matnin 1 -

© > o
(G thy, Gy TS -G, -6, F\b GU:
o

G, Gy t5G -5¢ [ W
G -5 Gut G | B °

Govn 1 ok =0, Uy 15 Yintuad
chont cincuib . Ao W being The oudpud
o o vo lF-ae W‘?VW) we.  d/ep

wlnmn () T amw B3 So ¥ L



Q

AN

CCOVQ

Gyt Gy +6;3+5C, = %D 4[\’&

" —5g @l 0

Given oulput 6 W, = V@ =\
2

T hen b7 Waing Khoomaments rando 4

V@;j Gty thg +5c, G, s

. o
where A = deteaminank
G+ Gy + Gy +3C, =Gy
=~ &3 =sCg




&2
(Y] Fneq,mncj IS scoled lay « = 27 x5000

So L > Ya, <2 Ya, R does not chang.
The cnwmit becomes:

_T———"Y“rﬁ
Q1-38 4?.#’ l f&:{i 2
[ ue ~ T % %

) 21N b Son, .‘mpcame_mle {ochn km= S0

o € CJgo, Lo LXSP, RaRxso . dhe rew
cnadib will ke

| ~
T Y 3

6 ™H q MH g
lgi\?s T?ﬁ"l -

b:}/tt

Ryt
Given \Hn (}w)\ H-tw T given m>§
abF Wn 2l Ve w = 27 Xweo nodlsec , loss = | B
\ ! z - L b S 4
i -Lw\%w 1+ €2 ] ! C'i fa? g
€= w' -l Jo l582.-'o5
D) A+ 5 KEE, W, 25 - \ _,_(—5—)—
‘ l{'é

n A lo\oijHN(JW)ll = T6A03 5 Subgh fr €

Go \Woss Vs bu o3 dB
o) loss ap 40 d3  implies lo\ogbl.\\-\nqw)\‘l -lo

' 230 @ 30kH2

= [0
2m

re- l+e (so)‘"‘

I + 025812 xBo) zw‘\v‘ m z18S 5 ondn 2

Fe. ¢ Second onden £ ler




P ’-I/L,

&-4: ?Quimipple Pores bard implies c CHER nespense.
Paom given ppecs. A,,:-—o'S‘de, Ao =358

3 P}
WC = dmxu2xio .‘ wangxcho Fwsz—'l =3.42¢

'|Aa\ 3’;
Lo ~| (X¢] |
M = A = —m—— = 25%0%.\9
\0 -1\ to —|
j:\ = 162" 90 -
Gsh [’T

Jhe  flbee ondet Ny, =z 3-03%

=
Cos't\ G‘«)
debn =y

Loo Kl‘rj wp {*n'm Tables ("FM- Ay =054d8 :;f. &20'3‘043)

I

= ' .
He® \ P2 € T4 11435 + P HT S 4 1035 540,379

Fea e faequenty denmmalized HPF, we pcale

< D lﬂ‘xlslooa . Jhws)

357%3.86 &

y to 3 3 2 20
3390067 + 0:71728 %0 g +0IH6I KD 5 +0°S13I s S
+0.3232 X

H6) -



